## Mathematic Slovaca

Radomír Halaš; Jiří Ort
QBCC-algebras inherited from qosets

Mathematica Slovaca, Vol. 53 (2003), No. 4, 331--340

Persistent URL: http://dml.cz/dmlcz/136888

## Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 2003

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

# QBCC-ALGEBRAS INHERITED FROM QOSETS 

Radomír Halaš - Jiríí Ort<br>(Communicated by Anatolij Dvurečenskij)


#### Abstract

A new class of algebras derived from BCC-algebras, the so-called quasi-BCC-algebras (briefly QBCC-algebras), are introduced and studied. These algebras model properties of the logical connective implication " $\Longrightarrow$ ", for which the validity of formulas $x \Longrightarrow y$ and $y \Longrightarrow x$ does not mean the equivalence of $x$ and $y$. A natural construction of QBCC-algebras from quasiordered sets (qosets) is then given and properties of such QBCC-algebras are studied.


## 1. Preliminaries

The notion of a BCK-algebra was introduced in 60 's by Y . Imai and K. Is éki [7] as an algebraic formulation of Meredith's BCK-implicational calculus. When solving the problem whether the class of all BCK-algebras form a variety, Y. Komori [10] introduced the class of BCC-algebras and proved that this class is not a variety. A. Wroński [13] characterized BCC-algebras as algebras isomorphic with a subalgebra of the left-residuation reduct of some integral monoid with left-residuation.

There are several axiomatizations of BCC-algebras. We use that of [2], multiplication in which models some properties of the logical connective implication and the constant 1 means the logical value "true". For more details we refer also to [3] and [11].

Definition 1. An algebra $(A, \bullet, 1)$ of type $(2,0)$ is a $B C C$-algebra if it satisfies the following identities:

```
(BCC1) \((x \bullet y) \bullet[(z \bullet x) \bullet(z \bullet y)]=1\),
(BCC2) \(x \bullet x=1\),
(BCC3) \(x \bullet 1=1\),
```

[^0](BCC4) $1 \bullet x=x$,
(BCC5) $(x \bullet y=1 \& y \bullet x=1) \Longrightarrow x=y$.
It was shown by W. A. Dudek [2] that BCC-algebras satisfying the axiom
(C) $x \bullet(y \bullet z)=y \bullet(x \bullet z)$
are just BCK-algebras.
BCK-algebras satisfying the left-distributivity axiom
$(\mathrm{D}) x \bullet(y \bullet z)=(x \bullet y) \bullet(x \bullet z)$
are known as Hilbert algebras, an algebraic counterpart of the logical connective implication in intuitionistic logic. Hilbert algebras were recently generalized in [5] as follows:

DEFINITION 2. A pre-logic is an algebra $\mathcal{A}=(A, \bullet, 1)$ of type $(2,0)$ satisfying the axioms:
(PL1) $x \bullet x=1$,
(PL2) $1 \bullet x=x$,
(PL3) $x \bullet(y \bullet z)=(x \bullet y) \bullet(x \bullet z)$,
(PL4) $x \bullet(y \bullet z)=y \bullet(x \bullet z)$.
In other words, pre-logics, contrary to Hilbert algebras, need not satisfy the axiom (BCC5).

The axioms of a BCC-algebra $(A, \bullet, 1)$ allow us to define a natural ordering on $A$ as follows:

$$
\begin{equation*}
x \leq y \Longleftrightarrow x \bullet y=1 \tag{1}
\end{equation*}
$$

Indeed, reflexivity is a conclusion of (BCC2), antisymetry of (BCC5) and transitivity can be derived from (BCC1). Henceforth, from this point of view BCC-algebras are special cases of ordered sets. When extracting the axiom (BCC5) from the axiomatic system of BCC-algebras we see that $\leq$ defined in (1) is a quasiorder relation similarly as in the case of pre-logics. This leads us to a common generalization of both the classes of BCC-algebras and pre-logics:

DEFINITION 3. A quasi-BCC-algebra (briefly $Q B C C$-algebra) is any algebra $\mathcal{A}=(A, \bullet, 1)$ satisfying the axioms ( BCC 1$)-(\mathrm{BCC} 4)$. A quasiorder relation defined on $A$ by (1) is called a natural quasiordering on $A$.

Remark. If $(A, \leq)$ is any quasiordered set, $a, b \in A$, we adopt the following terminology:

We write $a \sim b$ whenever $a \leq b$ and $b \leq a$ hold and call the pair $(a, b)$ indistinguishable; the set $C(a)=\{x \in A: x \sim a\}$ is called the cell of $a$. We write $a<b$ if $a \leq b$ and $a \nsim b$. If $A$ is finite, then $(A, \leq)$ can be viewed as a poset in which elements can be substituted by cells.

For example, the diagram given in Fig. 1


Figure 1.
represents a qoset in which, excluding reflexivity, the relations $a \leq b, a \leq c$, $b \leq c, b \leq d, d \leq b$ hold.

One can easily derive that the natural quasiordering $\leq$ on any QBCC-algebra $\mathcal{A}=(A, \bullet, 1)$ has the following properties:

$$
\begin{array}{ll}
1 \leq x \Longleftrightarrow & x=1 \\
y \leq x \bullet y \quad \text { for each } \quad x, y \in A . \tag{3}
\end{array}
$$

Indeed, $1 \leq x$ yields by (BCC4) $1=1 \bullet x=x$. Substituting $x=1$ into (BCC1) we get the property (3). The property (2) exactly means that $C(1)=\{1\}$.

Example 1. Let us consider an algebra $\mathcal{A}=(A, \bullet, 1)$ given by the table:

| $\bullet$ | 1 | $a$ | $b$ | $c$ | $d$ |
| :--- | :--- | :--- | :--- | :--- | :--- |
| 1 | 1 | $a$ | $b$ | $c$ | $d$ |
| $a$ | 1 | 1 | $b$ | $c$ | $d$ |
| $b$ | 1 | 1 | 1 | 1 | $d$ |
| $c$ | 1 | 1 | 1 | 1 | $d$ |
| $d$ | 1 | 1 | $a$ | $a$ | 1 |

One can show that $\mathcal{A}$ is a QBCC-algebra, but $1=b \bullet c=c \bullet b$ for $c \neq b$ and

$$
1=a \bullet a=a \bullet(d \bullet b) \neq(a \bullet d) \bullet(a \bullet b)=d \bullet b=a
$$

verifying that $\mathcal{A}$ is neither a BCC-algebra nor a pre-logic.
In [5] it was shown that there are pre-logics $\mathcal{A}=(A, \bullet, 1)$ having the property that every subset containing the element 1 is a subalgebra of $\mathcal{A}$. In other words, a subalgebra lattice $\operatorname{Sub} \mathcal{A} \cong \mathbf{2}^{|A \backslash\{1\}|}$.

Example 2. Let $(Q, \leq, 1)$ be a qoset with a greatest element $1, C(1)=\{1\}$. Let us define for $x, y \in Q$

$$
x \bullet y= \begin{cases}1 & \text { if } x \leq y \\ y & \text { otherwise }\end{cases}
$$

One can verify that $\mathcal{Q}=(Q, \bullet, 1)$ is a QBCC-algebra (even a pre-logic).
The aim of the paper is to describe all the QBCC-algebras in which every subset containing 1 is a subalgebra. In the following paragraph we will present a new construction of QBCC-algebras derived from qosets.

## 2. Standard QBCC-algebras

To simplify expressions, a QBCC-algebra $\mathcal{A}=(A, \bullet, 1)$ in which every subset containing 1 is a subalgebra will be called standard.

It is clear that for $\mathcal{A}$ to be standard it is enough every subset having three elements $\{x, y, 1\}$ to be a subalgebra of $\mathcal{A}$, hence $x \bullet y \in\{1, x, y\}$. By the natural quasiorder $\leq$, the case $x \bullet y=1$ holds if and only if $x \leq y$. The second case $x \bullet y=x$ is possible by the property (3) only when $y<x$. In other words, we have necessarily $x \bullet y=y$ whenever $x \| y$ (i.e. $x \not \leq y$ and $y \not \leq x$ ).

A pair $(x, y)$ of (distinct) elements $x, y \in A, x>y$, is called normal if $x \bullet y=y$.

Summarizing all the cases above, it is enough to describe which pairs of elements $(x, y)$ can be non-normal. At first we will describe a local behavior of such couples.

THEOREM 1. Let $\mathcal{A}=(A, \bullet, 1)$ be a standard $Q B C C$-algebra, let $(x, y)$ be a non-normal pair of elements, i.e. $x \bullet y=x, x>y$. Then the following conditions hold:
(a) for each $z>y$ we have either $z \sim x$ and $z \bullet y=z$ or $z>x$ and the pairs $(z, x),(z, y)$ are both normal;
(b) for each $z<x$ we have either $z \sim y$ and $x \bullet z=x$ or $z<y$ and the pairs $(x, z),(y, z)$ are both normal.

Proof.
(a) Suppose that for $z>y, x \sim z$ or $x<z$ does not hold. Then one of the following cases occurs:

人) $y<z<x$,
乃) $z \| x$.

We will show that both the cases $\alpha$ ) and $\beta$ ) lead to a contradiction.
The case $\alpha$ ):
We have $y \bullet x=z \bullet x=y \bullet z=1$, hence

$$
1=(x \bullet y) \bullet[(z \bullet x) \bullet(z \bullet y)]=x \bullet[1 \bullet(z \bullet y)]=x \bullet(z \bullet y) .
$$

Now we have either $z \bullet y=y$ and hence $x \bullet y=1$, a contradiction with $x>y$, or $z \bullet y=z$ and $x \bullet z=1$, contradicting $x>z$.
The case $\beta$ ):
In this case it holds that $y \bullet x=y \bullet z=1, x \bullet z=z, z \bullet x=x$ and, again by (BCC1),

$$
1=(y \bullet z) \bullet[(x \bullet y) \bullet(x \bullet z)]=1 \bullet(x \bullet z)=x \bullet z,
$$

which is a contradiction with $x \| z$.
We have shown that either $x<z$ or $x \sim z$ whenever $y<z$.
Suppose further that $z \sim x$, i.e. $z \bullet x=x \bullet z=1$. Then (BCC1) yields

$$
1=(x \bullet y) \bullet[(z \bullet x) \bullet(z \bullet y)]=x \bullet(z \bullet y) .
$$

Since $z>y$, we have $z \bullet y \in\{z, y\}$. The case $z \bullet y=y$ leads to

$$
1=x \bullet(z \bullet y)=x \bullet y
$$

which is a contradiction with $x>y$. Henceforth $z \bullet y=z$ holds and the pair $(z, y)$ is not normal.

Consider the case $x<z$ and let us prove that then the pairs $(z, x),(z, y)$ are normal. Assume on the contrary, that $z \bullet y=z$. Then

$$
1=(y \bullet x) \bullet[(z \bullet y) \bullet(z \bullet x)]=1 \bullet[z \bullet(z \bullet x)]=z \bullet(z \bullet x) .
$$

Further, if $z \bullet x=x$, then $1=z \bullet(z \bullet x)=z \bullet x$ contradicting $z>x$. The case $z \bullet x=z$ gives us

$$
1=(z \bullet y) \bullet[(x \bullet z) \bullet(x \bullet y)]=z \bullet(1 \bullet x)=z,
$$

hence also $1=z=z \bullet x=1 \bullet x=x$, a contradiction with $z>x$. Henceforth we have necessarily $z \bullet y=y$ and the pair $(z, y)$ is normal.

Let us show the normality of $(z, x)$. It holds that

$$
1=(x \bullet y) \bullet[(z \bullet x) \bullet(z \bullet y)]=x \bullet[(z \bullet x) \bullet y],
$$

and $z \bullet x \in\{x, z\}$. Supposing $z \bullet x=z$ we obtain

$$
1=x \bullet[(z \bullet x) \bullet y]=x \bullet(z \bullet y)=x \bullet y,
$$

which does not hold. This proves $z \bullet x=x$, the normality of $(z, x)$.
(b) Consider the dual case $z<x$ and assume that $z \| y$ (the case $y<z<x$ cannot occur by (a)). Then $y \bullet x=z \bullet x=1, z \bullet y=y, y \bullet z=z$, and

$$
1=(x \bullet y) \bullet[(z \bullet x) \bullet(z \bullet y)]=x \bullet(1 \bullet y)=x \bullet y
$$

contradicting $x>y$. Hence we have necessarily $z \leq y$.
Supposing $z \sim y$, we get $y \bullet z=1$ and

$$
1=(y \bullet z) \bullet[(x \bullet y) \bullet(x \bullet z)]=1 \bullet[x \bullet(x \bullet z)]=x \bullet(x \bullet z)
$$

Then

$$
1=x \bullet(x \bullet z)=x \bullet z,
$$

which does not hold. Hence, the pair $(x, z)$ is not normal and $x \bullet z=x$.
Consider the second possible case, i.e. $z<y<x$ and let us prove the normality of $(x, z)$ and $(y, z)$. The pair $(x, z)$ has to be normal because of (a) (non-normal pair is a covering pair).

If the pair $(y, z)$ is not normal, then by (a) again, the pair $(x, y)$ is normal, a contradiction. Hence the pair $(y, z)$ is normal.

Theorem 1 motivates us to introduce the following concept:
DEFINITION 4. Let $(Q, \leq, 1)$ be a qoset with a greatest element 1 , and $C(1)=\{1\}$. A pair $(x, y) \in Q \times Q, x>y$, is called a bridge if for each $z \in Q$ the following (dual) conditions hold:
(b1) $z>y$ implies $z \geq x$,
(b2) $z<x$ implies $z \leq y$.
Remark. It is clear that if $(x, y)$ is a bridge in $Q$, then $x$ covers $y$, i.e. there is no $z \in Q$ with $y<z<x$. The notion of "bridge" is motivated by the diagram of $Q$ around the pair $(x, y)$, which looks like a bridge between $x$ and $y$. In account of Theorem 1 we have seen that bridges are the only candidates for pairs of elements which need not be normal. Next we will describe all the standard QBCC-algebras.

Theorem 2. Let $(Q, \leq, 1)$ be a qoset with a greatest element 1 and $C(1)=\{1\}$. Let us define the operation - on $Q$ as follows:
(q1) $x \bullet y=1$ if $x \leq y$,
(q2) $1 \bullet x=x$,
(q3) $x \cdot y=y$ if $x \| y$,
(q4) $x \bullet y=y$ if $x>y$ and $(x, y)$ is not a bridge,
(q5) if ( $x, y$ ) is a bridge in $Q$ and $x \neq 1$, one can set $x \bullet y=y$ or $x \bullet y=x$; in the latter case for each $z \geq x$ we have either $z \sim x$ and $z \bullet y=z$ or $z>x$ and $z \bullet x=x, z \bullet y=y$; for each $z \leq y$ we have either $z \sim y$ and $x \bullet z=x$ or $z<y$ and $x \bullet z=y \bullet z=z$.

Then $(Q, \bullet, 1)$ is a standard QBCC-algebra and each standard $Q B C C$-algebra is of this form.

Proof. It is sufficient to show the validity of the axiom

$$
\begin{equation*}
(x \bullet y) \bullet[(z \bullet x) \bullet(z \bullet y)]=1 \tag{*}
\end{equation*}
$$

One can easily show that $(*)$ holds whenever there are identical elements among $x, y, z$, so we can suppose that they are pairwise distinct. The same holds if one of the elements $x, y, z$ is equal to 1 . Comparing the elements $y, z$ we distinguish several cases.
Case 1.
Suppose $z \leq y$. Then by (q1), $z \bullet y=1$ and (*) is valid.
Case 2.
Suppose further $z \| y$. Then due to (q3), $z \bullet y=y$ and the left hand side of $(*)$ has the form

$$
(x \bullet y) \bullet[(z \bullet x) \bullet(z \bullet y)]=(x \bullet y) \bullet[(z \bullet x) \bullet y]
$$

With respect to elements $x, z$ the following cases can occur:
Subcase 2.1. Let $z \| x$. Then by (q3) again $z \bullet x=x$ and applying (q1) we get $(x \bullet y) \bullet[(z \bullet x) \bullet y]=(x \bullet y) \bullet(x \bullet y)=1$.

Subcase 2.2. Let us have $z \leq x$, i.e. $z \bullet x=1$ and $(x \bullet y) \bullet[(z \bullet x) \bullet y]=$ $(x \bullet y) \bullet y$. We have $x \not \leq y$, otherwise we would have $z \leq x \leq y$, a contradiction with $z \| y$. The case $x \bullet y=y$ gives us $(x \bullet y) \bullet y=y \bullet y=1$. If $x \bullet y=x$, then $x>y$ and the pair $(x, y)$ is a bridge. But it is impossible because of $z \leq x$ and $z \| y$.

Subcase 2.3. Suppose finally that $z>x$. Then $z \bullet x \in\{x, z\}$. If $z \bullet x=z$, then $(z, x)$ is a bridge and since $z \| y$, necessarily also $x \| y$, and due to (q3) $x \bullet y=y$. From this we can derive $(x \bullet y) \bullet[(z \bullet x) \bullet y]=y \bullet(z \bullet y)=y \bullet y=1$.

The case $z \bullet x=x$ leads to $(x \bullet y) \bullet[(z \bullet x) \bullet y]=(x \bullet y) \bullet(x \bullet y)=1$.
Case 3.
Suppose that $z>y$. The following two subcases can occur:
Subcase 3.1. Let the pair $(z, y)$ be normal, i.e. $z \bullet y=y$, and

$$
(x \bullet y) \bullet[(z \bullet x) \bullet(z \bullet y)]=(x \bullet y) \bullet[(z \bullet x) \bullet y]
$$

Further if $z \bullet x=1$, i.e. $z \leq x$, then $x \bullet y \in\{x, y\}$ (otherwise we would have $z \leq y)$. The case $x \bullet y=y$ gives $(x \bullet y) \bullet[(z \bullet x) \bullet y]=y \bullet(1 \bullet y)=y \bullet y=1$. For $x \bullet y=x$ we have $x>y$ and the pair $(x, y)$ is a bridge with $z>y$. This leads to $z \geq x$ and $z \nsim x$, otherwise we would have, by (q5), $z \bullet y=z$, which does not hold. Hence $z>x$, a contradiction.

Suppose further that $z \bullet x=x$. Then $(x \bullet y) \bullet[(z \bullet x) \bullet y]=(x \bullet y) \bullet(x \bullet y)=1$.

Let us consider the last case $z \bullet x=z$. We have $z>x$, and the pair $(z, x)$ is a bridge. Then $(x \bullet y) \bullet[(z \bullet x) \bullet y]=(x \bullet y) \bullet(z \bullet y)=(x \bullet y) \bullet y$. Since $y<z$ and $(z, x)$ is a bridge, we have also $y \leq x$ due to (b2). The case $y \sim x$ is impossible, since by (q5) the pair ( $z, y$ ) would not be normal. Hence $y<x$ and by (q5) again, the pair $(x, y)$ is normal, i.e. $x \bullet y=y$ and $(x \bullet y) \bullet y=y \bullet y=1$, finishing the Subcase 3.1.

Subcase 3.2. Let us consider that the pair $(z, y)$ is not normal, hence $z \bullet y=z$, and

$$
(x \bullet y) \bullet[(z \bullet x) \bullet(z \bullet y)]=(x \bullet y) \bullet[(z \bullet x) \bullet z]
$$

Suppose further $z \bullet x=1$, i.e. $z \leq x$. If $z \sim x$, then by (q5) the pair $(x, y)$ is also not normal, hence $x \bullet y=x$ and $(x \bullet y) \bullet[(z \bullet x) \bullet z]=x \bullet(1 \bullet z)=x \bullet z=1$. For $z<x$ we have again $x \bullet y=y$ by (q4), and so $(x \bullet y) \bullet[(z \bullet x) \bullet z]=$ $y \bullet(1 \bullet z)=y \bullet z=1$.

Consider the case when $z \bullet x=x$, hence $(x \bullet y) \bullet[(z \bullet x) \bullet z]=(x \bullet y) \bullet(x \bullet z)$. Suppose further $x \| z$, i.e. $x \bullet z=z$ and so $(x \bullet y) \bullet(x \bullet z)=(x \bullet y) \bullet z$. Since $(y, z)$ forms a bridge and $z \| x$, also $x \| y$ holds and $x \bullet y=y$ yields $(x \bullet y) \bullet z=$ $y \bullet z=1$. The case $z>x$ leads to $x \bullet z=1$ and $(x \bullet y) \bullet(x \bullet z)=(x \bullet y) \bullet 1=1$.

The last possible case with respect to $x$ and $z$ is $z \bullet x=z$. But then $(x \bullet y) \bullet[(z \bullet x) \bullet(z \bullet y)]=(x \bullet y) \bullet(z \bullet z)=(x \bullet y) \bullet 1=1$, finishing the proof of Subcase 3.2.

Theorem 2 allows us to construct a standard QBCC-algebra from a given qoset $Q$. It shows that one can have non-normal pairs of elements only when $Q$ contains bridges. Hence, for a qoset without bridges the only possibility to get standard QBCC-algebras is as shown in Example 2.

Example 3. Let us consider a qoset $Q$ with the diagram in Fig. 2.


Figure 2.

By setting $a \bullet 0=a$ we get $b \bullet 0=b, c \bullet 0=0, c \bullet a=a, c \bullet b=b$ by (q5). The rest of cases is given by (q1), (q2) and (q4), hence the operation • is completely determined.

It is immediately seen that the algebras described in Theorem 2 need not satisfy the distributivity axiom (D), hence these need not be pre-logics in general. Indeed, if $(x, y)$ is any non-normal pair, i.e. $x \bullet y=x$, then $1=x \bullet x=x \bullet(x \bullet y) \neq$ $(x \bullet x) \bullet(x \bullet y)=x$.

Corollary 1. Every standard QBCC-algebra satisfies the axiom (C).
Proof. We show that every standard QBCC-algebra $(Q, \bullet, 1)$ satisfies the axiom (C):

$$
x \bullet(y \bullet z)=y \bullet(x \bullet z)
$$

If there are identical elements among $x, y$ and $z,(\mathrm{C})$ holds (we use the identity $a \bullet(b \bullet a)=1)$. The same holds if one of the elements $x, y, z$ is equal to 1 . So we can suppose that $x, y, z$ are distinct elements of $Q$.

Comparing $y$ and $z$ we obtain three possibilities:

## Case 1.

Let $y \leq z$, i.e. $y \bullet z=1$. We get $x \bullet(y \bullet z)=1$. Considering $x \bullet z=1$ or $x \bullet z=z$ one gets $y \bullet(x \bullet z)=1$ and the equality holds. If $x \bullet z=x$, i.e. the pair $(x, z)$ forms a bridge and $x>z$, we obtain, using transitivity, $y<x$. So $y \bullet(x \bullet z)=y \bullet x=1$.
Case 2.
Suppose $y \| z$, i.e. $y \bullet z=z$. For $x \bullet z=1$ both the sides of (C) are equal to 1 . If $x \bullet z=z$, we obtain $x \bullet(y \bullet z)=y \bullet(x \bullet z)=z$. In the last subcase $x \bullet z=x$ we get $x \bullet(y \bullet z)=x$. Since $(x, z)$ is a bridge and $y \| z$, also $y \| x$. It follows that $y \bullet(x \bullet z)=y \bullet x=x$ and (C) holds.
Case 3.
Suppose finally that $y>z$. Let further $y \bullet z=z$. If $x \bullet z=1$, then both the sides of (C) are equal to 1 . In the subcase $x \bullet z=z$ we get $x \bullet(y \bullet z)=y \bullet(x \bullet z)=z$. The last possible subcase is $x \bullet z=x$, i.e. $(x, z)$ is not normal and forms a bridge. So we have either $y \sim x$ and then by (q5) the pair ( $z, y$ ) is also nonnormal, a contradiction with $y \bullet z=z$, or $y>x$. For $y>x$ we get, by (q5), $y \bullet x=x$ and $x \bullet(y \bullet z)=y \bullet(x \bullet z)=x$.

Now let $y \bullet z=y$ holds, i.e. $(y, z)$ is non-normal and forms a bridge. In the subcase $x \bullet z=1$, we have by transitivity $x<y$ and both the sides are equal to 1 . For $x \bullet z=z$ only the possibility $x \bullet y=y$ can occur $(x \bullet y=1$ or $x \bullet y=x$ lead to a contradiction) and so we get $x \bullet(y \bullet z)=y \bullet(x \bullet z)=y$. Finally let $x \bullet z=x$. Since $(y, z),(z, x)$ are bridges, we have necessarily $x \sim y$. From this we derive $x \bullet(y \bullet z)=y \bullet(x \bullet z)=1$.

## RADOMÍR HALAŠ - JIŘí ORT

## REFERENCES

[1] BLOK, W. J.-PIGOZZI, D. : Algebraizable Logics. Mem. Amer. Math. Soc. 396, Amer. Math. Soc., Providence, RI, 1989.
[2] DUDEK, W. A.: The number of subalgebras of finite BCC-algebras, Bull. Inst. Math. Acad. Sinica 20 (1992), 129-135.
[3] DUDEK, W. A.: On proper BCC-algebras, Bull. Inst. Math. Acad. Sinica 20 (1992), 137-150.
[4] DUDEK, W. A.: On algebras inspired by logics, Math. Stud. Lviv 14 (2000), 3-18.
[5] CHAJDA, I.-HALAŠ, R. : Algebraic properties of pre-logics, Math. Slovaca 52 (2002), 157-175.
[6] HALAŠ, R.: BCC-algebras inherited from posets, Mult.-Valued Log. 8 (2002), 223-235.
[7] IMAI, Y.-ISÉKI, K.: On axiomatic system of propositional calculi XIV, Proc. Japan Acad. Ser. A Math. Sci. 42 (1966), 19-22.
[8] ISÉKI, K. : An algebra related with a propositional calculus, Proc. Japan Acad. Ser. A Math. Sci. 42 (1966), 26-29.
[9] KIM, J. Y.-YUN, J. B.-KIM, H. S.: BCK-algebras inherited from the posets, Math. Japon. 45 (1997), 119-123.
[10] KOMORI, Y. : The class of BCC-algebras do not form a variety, Math. Japon. 29 (1984), 391-394.
[11] KOMORI, Y.: The variety generated by BCC-algebras is finitely based, Rep. Fac. Sci. Shizuoka Univ. 17 (1983), 13-16.
[12] NEGGERS, J.-KIM, H. S.: Algebras associated with posets, Demonstratio Math. 34 (2001), 13-23.
[13] WROŃSKI, A.: An algebraic motivation for BCK-algebras, Math. Japon. 30 (1985), 183-193.
[14] WROŃSKI, A.: BCK-algebras do not form a variety, Math. Japon. 28 (1983), 211-213.

Received March 25, 2002
Revised May 12, 2003

Department of Algebra and Geometry
Palacky University Olomouc
Tomkova 40
CZ-779 00 Olomouc
CZECH REPUBLIC
E-mail: Halas@risc.upol.cz


[^0]:    2000 Mathematics Subject Classification: Primary 06F35, 06A11, 03G25.
    Keywords: BCC-algebra, QBCC-algebra, qoset.
    Work on the paper was supported by Council of Czech Government No. J14/98:153100011.

